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z,y'z00000

Y
¥ =xcosf +ysinf  (11.1) y
y'=—zsinf+ycosh  (11.2) v
€y
0000000000000 §,j,k0 & o
goboooooobooooooon 5 b,
é.,¢,6.0000000000000 i T
good
€ = cosbi+sinfj (11.3)
€, = —sinfi+cosfj (11.4)
& = k (11.5)
i = cosfé, —sinhe, (11.6)
j = sinbé, + cosbé, (11.7)
E = e (11.8)
goooooooooodga
€y cosf sinf 0 i
€, | =] —sinf cosfd O j (11.9)
2. 0 0 1 k
gooooao
i cos —sinf O €y
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102 0110 0O0d

A=A+ Ayj+Ak=Apé +Ay¢6,+A,6,000000000000
00000000000
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A 0 0 1 A,
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g _of . gcosﬁ
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— <sin0% + C°:9%> (me% + 00:0%>
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0000000000000000000000000 dI = prdrdfr?
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(r,d,) 000000000

ox

ar

d(z,y,2) Oy
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11.2.2 JO00OO0O0OO0O0O00O0OOO0000
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